M & Ol & 2 E M A
20108 &= =0l & LBl |
SR [T
& 1300 N REA
2 310 X 2w 2 Al
8 311 N nEAl (9l &3l
C R R 0] & o & = 0 by HImE=ET
ES A 6,467,250 7,690,395 A 1,223,145
== AH It 6,467,250 7,690,395 A 1,223,145
300 X 2w2Al 276,833 282,259 Ab5,426
310 X2 Al 276,833 282,259 N5,426
311 XY w2 Al 276,833 282,259 Ab5,426
311-08 2 D2Al 276,833 282,259 75,426
O0E&E Hg 199,159
O+M2 9lMorH 77,674
0 2x2 6,190,417 7,408,136|  A1,217,719
510 S 1Ex=3S 4,265,700 4,472,750 A 207,050
511 =21E2X3S 4,265,700 4,472,750 A207,050
511-01 2 1EXZ 645,700 129,750 515,950
OOZEXE0IES N2E HE X 43,200
Ool It 2| = Al 180,000
ORI NHEZSH X2 250,000
OFMES HHOY WA 14,000
ORXIHAS Hel 1,500
O2MTE 2579 B2 5,000
OlEs o RFRE2EH N& 48,000
O#Y SE 33 4,000
HEDIGH SMEE AR 2R 100,000
511-02 29 - NIGLHSEIHNEXS 2,654,000 4,289,000 A 1,635,000
O Z=ZE N 525,000
O28H& 22D EX XN& 75,000
O+MZED HYAYLS 350,000
O Z g 300,000
OxdEBE A 320,000
OxgMd2MEDd X 450,000
oYY Mt 484,000
O eHEHI 150,000
511-03 JI= 966,000 54,000 912,000
OSLHIIS Hat 66,000
OS2 HHEIIS 4 500,000
OSAIEH SZIHH 400,000
520 Al ,SBIEX=3S 1,924,717 2,935,386 21,010,669




SN AT
& o:o500 X2
= 520 Al,SHIEXA =S
= 521 Al - EHIE X 2SS (ce &
RN 0l ey & 0 4 o HIRE2
521 Al - SHIEE3S 1,924,717 2,935,386|  ~1,010,669
521-01 Al - SHIEXSS 1,924,717 2,935,386 21,010,669
OOEIFOE A& =5 210,000
ONE E=:0g RXE=> 280,000
OOlEZE N 66,750
OOZHEOIE AN2E HE 12,960
O0AASIT REFBX 23 4,407
OOURE HEZSH X2 100,000
OAHOM Q1Y) XX 22,000
OndzE A=FsEX B3 12,000
OolHE TP APEE N 3,300
Odetoe ogE s3Hl XA 225,150
OAx+2 HO=2E =4 160,000
O=Z 2 90,000
OOt2 2HIC AS8 X4 30,000
oshmel 7 60,000
LUSATE AP 120,000
Ox8ME&MED X 180,000
OSE( ¥ Saii=s K& 49,000
OLAUE F3 36,300
Ol A 10,000
OFNSS FHOY WABZ 4,200
OolHIIE Hel 50,000
OdiZHIlE 83t 22,000
OYXHE Hel 750
OtorF | 9,000
Ox48Xtd B339 2e| 1,500
OQtot HiCiE JHRY) 50,000
Oy 52 Y8 0
OREES 08 SEEAFY X 14,400
Oz&y 2E 33 1,000
ONZIGH LMAH FMNE B3 50,000
OIS GRISA M4 X2 20,000




8!
K
OF
uJ

e

KIo

=] pm}

=
o

<

A
)
K]

=
o

<

10,000

or
100
7

KO

x

i

OgAH +H




